55552 :; 55552

2005 LINCOLN LT GRILLES 2005 LINCOLN LT

2004-2005 FORD F-150 & 2005 LINCOLN MARK LT
UPPER CLASS SERIES MESH BUMPER

Tools Required: Hardware:
5/16” Nut Driver / Socket Set Mesh Bumper Grille

6-32 Nylon Lock-Nuts
#6 Washers

2” Flange Brackets
15" x ¥2" L Bracket

PNWWE

Read and understand instructions before attempting installation

Note: Will not fit 2006 model F-150’s or Mark LT; Use part number 55555.

Step 1

Open the hood; test fit the grille over the bumper opening. Slide a flange bracket onto each end
mounting stud. Use the #6 washers and 6-32 nylon lock nuts to secure the grille in place.

Step 2

Attach the L bracket to the lower center stud. Secure this bracket with the remaining hardware.
Thank you for purchasing your T-Rex billet grille. T-Rex Truck Products Inc. 4/24/06

s
X &&'{&%&Q&‘&J‘ %5:: X

(LSS \Vn'u'u

R *&%wm
: N

y %\\\ﬁ“‘o‘ﬁb ‘0‘8’
z-m:‘.\ m’:‘:“

ot U
Ly




